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I/ LIstenIng (6marks): 

1)  Listen and Tick ( √ )  the right answer (1mk): 

The listening passage is about:   a- Ann’s family (    ) 

                                        b- Ann’s room (    ) 

                                                    c- Ann’s house(    ) 

2) Answer True or False (2mks): 

a- The house is composed of 4 rooms , a kitchen and a garden (…………….) 

b- The bathroom is next to the kitchen                                       (………….....) 

3) Answer the following question (1mk): 

What is the garden like? 

……………………………………………………………………………………… 

 
4) Spelling :(1mk): 

I’m………………… .Ann do you have something to………………………? 

 
5) Put the words in the right column :( 1mk): 

right /  kitchen / trees 

/ i: / / ai / 

…………………… 

 

………………… 

 

II / Language:(14mks): 

 

1 ) Fill in the blanks with words in the list (there are 2 extra words)(3mks):  

Bedrooms / and / it  / near / next / quite /  wardrobe / them  

Look! This is my new house plan. It’s........................big. It is composed of six spacious rooms; 

three............................, a large living room, a dining room and a bathroom. My bed is between 

my parents’ bedroom................the bathroom. I love it because I have everything I want. There’s   

a comfortable single bed in the middle of the room with a bedside table and a lamp 

on................... .On the right, there’s a small ......................................for my clothes. The desk is 

on the left............................the window 
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2) Put the verbs between brackets in the right tense or form : ( 2,5mks):  

Today is March 7
th

 .It’s Jane’s birthday party. All (she)............friends are in the living room. 

They are (wear)................................nice clothes. On the table, there are many 

(present)............................ . The house (be)...............decorated with green, pink and red 

balloons. Jane’s mother is in the kitchen now. She (prepare)..................................a big round 

cake. The father, Mr Wood, is taking photos of the guests with his camera. 

3) Circle the correct alternatives (3, 5mks):  
Mr Najjar is a farmer. He is (a / an / O) active all the day as he gets up before the sunrise. He 

cleans his animals’ barn then he feeds ( it / him / them). He also milks the cows .Mr Najjar also 

has hens and turkeys for eggs. He usually collects them and (buys / sells / keeps) them on 

market day. He also grows many fruits such as (apricots / lettuce / tomatoes) and grapes. 

Life ( in / on / to) the farm is not really easy (because / and / but) Mr Najjar loves it and feels so               

( sad / proud / busy) of it. 

4) Match the questions in (A) with their answers in(B) there’s an extra one in B :(3maks) 

A B C 
 

1-Where are you going Bob? 

2-What is it like? 

3-Are you going to buy fruits? 

4-What is your favourite fruit? 

5-Are there clothes and shoes? 

6-Can I go with you? 

a- Yes, there are. 

b- Yes, some oranges and dates 

c- Yes, of course 

d- It’s big and very busy 

e- To the market place 

f- Fish and lamb 

g- I like bananas 

 

1+........... 

2+........... 

3+............ 

4+........... 

5+........... 

6+............. 

 

 

5) Reorder the following words to get meaningful sentences (2mks): 

a- market place /  crowded  / is  / the 

................................................................................................................................................................... 

b- antique /  sells  / shop / an / antiques 

................................................................................................................................................................... 

c- sells / market /  flea  / cheap   /   clothes 

................................................................................................................................................................... 

d- goods / the / on  / are / stalls 

................................................................................................................................................................... 

Good work 




